# RESOLUTION NO. 18-92 CITY OF CENTERVILLE, OHIO

SPONSORED BY	COUNCILLAN	Selly Beels	ON THE
15th	DAY OF	JUNE	, 1992.

A RESOLUTION ACCEPTING THE BID OF THE L. P. CAVETT COMPANY FOR THE 1992 STREET RESURFACING PROGRAM FOR THE CITY OF CENTERVILLE, OHIO, AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City advertised for bidders for the 1992 Street Resuracing Program in the City of Centerville, Ohio, pursuant to specifications prepared by the City; and

WHEREAS, the L. P. Cavett Company submitted the low and best bid.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

SECTION 1. The bid of the L. P. Cavett Company, marked Exhibit "A" is hereby accepted, total amount not to exceed Six Hundred Thousand Dollars (\$600,000.00), and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

PASSED this 15th day of June,
1992.
Mayor of the City of Centerville, Ohio
ATTEST:
Clerk of the Council of the City of Centerville, Ohio
CERTIFICATE
The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number 18-92, passed by the Council of the City of Centerville, Ohio, on the 15th day of 1992.
Clerk of Council
Approved as to form, consistency with the Charter and Constitutional Provisions.  Department of Law Robert N. Farquhar Municipal Attorney

### Unit Price Proposal

Honorable Board of Township Trustees 8200 McEwen Road Dayton, Ohio 45458 City of Centerville 100 W. Spring Valley Pike Centerville, Ohio 45458

#### Gentlemen:

The undersigned hereby proposes and agrees to furnish and apply all the required labor, materials and equipment necessary for the completion of the "1992 Asphalt Resurfacing Program" in accordance with the plans, specifications and completion dates and to accept the unit prices below for each item as full compensation for the work performed in this proposal.

### Washington Township Estimated Quantities --

Item	Description	Est. Qty.	Units	Unit Price	Total Amount Bid
202	Concrete Curb Removed	1,085	lin ft	4,50	4882.55
254	Pavement Planing, Bituminous	80,795	sq yd	. 87	70291.65
404	Asphalt Concrete	10,904	tons	19.10	208,266.40
407	Tack Coat, 0.10 gal/sq yd	11,165	gals	,0/	111.65
604	Manholes Adjusted to Grade	99	each	170.00	16,830.00
604	Catch Basin Grate Adjusted to Grade	1	each	250.00	250.00
604	Water Valves Adjusted To Grade	43	each	90.00	3870.00
609	Concrete Curb - Type 3	1,085	lin ft	13.50	14647.50
614	Maintaining Traffic	Lump	sum	1200.00	1200.00
660	Sodding including 4" Topsoil	150	sq yd	3.00	450.00
825	Crack Sealing - Type III	19,065	lbs.	.90	17,15850

Washington Township Total Bid: 337, 958.25

## City of Centerville Estimated Quantities --

Item	Description	Est. Qty.	Units	Unit Price	Total Amount Bid
202	Concrete Curb Removed	12,500	lin ft	4.50	56,250.00
202	Curb Ramp Removed	50	sq ft	2,50	125.00
202	Sidewalk Removed	100	sq ft	2.50	250.00
253	Pavement Repair	2,300	sq yd	20.40	44,920.00

_					25002
254	Pavement Planning, Bituminous	74,700	sq yd	. 87	69,989.00
404	4" Asphalt Concrete Driveway	100	sq ft	1.25	125.00
404	Asphalt Concrete, 1-1/2 inch	10,000	tons	19.40	194,000.00
407	Tack Coat, 0.2 gal/sq yd	22,100	gai	.01	221.00
452	6" Concrete Driveway	150	sq ft	6.50	975.00
603	12" Pipe; Rebuilt	40	lin ft	32.00	1280.00
603	12" Pipe; Replaced	40	lin ft	40.00	1600.00
603	18" Pipe; Replaced	100	lin ft	45.00	4500.00
604	Major Catch Basin Repair	10	each	650.00	6080.07
604	Manholes Adjusted to Grade	115	each	90.01	16350.00
604	Minor Catch Basin Repair	25	each	300.00	7500.00
604	Water Valves Adjusted to Grade	105	each	35.00	3675,50
605	4" Underdrain Under Driveways	200	lin ft	7.00	1400.00
605	4" Underdrain Under Grass	1,400	lin ft	6.00	8400.00
608	4" Sidewalk	100	sq ft	4.50	450.00
608	6" Curb Ramp	50	sq ft	4.50	225,00
609	18" Barrier Curb	900	lin ft	10.50	9450.00
609	Concrete Curb and Gutter	12,500	lin ft	10.50	131,250.00
614	Maintaining Traffic	Lump	Sum	3500.00	3500,00
660	Sodding including 4" Topsoil	1,500	sq yd	3.00	4500.00
825	Crack Seal, Type III	12,000	lbs	.90	10,800.00

City of Centerville Total Bid: '568, 735.00

GRAND TOTAL: 906,693.20

# Alternate Bid Items:

Washington Township		Unit Cost	Total Cost
404 Recycled Asphalt Concrete	10,904 tons	18.95	206,630.80
City of Centerville		Unit Cost	<b>Total Cost</b>

The undersigned agrees to enter into separate contracts with the Washington Township Trustees and the City of Centerville Council within ten (10) days, to complete the said Asphalt Program within forty (40) working days after notification to proceed and will furnish the required bonds for the payment of all bills for damage, labor, and material arising from the performance of said project.

Washington Township -- a certified check or bidding bond in the amount of ten percent (10%) of the bid must accompany this proposal.

City of Centerville -- the bid must be accompanied by a bid bond of five percent (5%) of the bid amount. The successful bidder shall furnish a 50% Performance Bond.

The bid proposals will remain firm for acceptance for thirty (30) days after the bid opening unless otherwise stated.

The above items shall be bid, removed, replaced, performed and adhered to according to the State of Ohio Department of Transportation "Construction and Material Specification" manual, latest edition. Any and all items shall be constructed according to such specifications and will be the responsibility of the successful bidder to perform accordingly.

The undersigned hereby certifies that the materials and equipment furnished as a result of this bid will be in full accordance with the State of Ohio and the attached Washington Township Supplemental Specifications.

Address

L.P. (AVELL Company

Address

600 SHEPHERS AVE.

City, State, Zip

City, State, Zip

Authorized Signature

Printed Name and Title

Phone 1-554-0400

Date 6/12/92